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VERTICE 24

XV  =  412970.630
YV  = 4873189.241

VERTICE 25

XT1 =  412960.094
YT1 = 4873188.326
SVC1=       0.000
XTC1=  412960.094
YTC1= 4873188.326
AC1 =       0.000

XV  =  412947.039
YV  = 4873187.192
AV  =    167.3634
AD  =     32.6366
XC  =  412955.767
YC  = 4873238.139
R   =      50.000
SVRC=      25.633
SVL =      25.633

XT2 =  412935.105
YT2 = 4873192.607
SVC2=       0.000
XTC2=  412935.105
YTC2= 4873192.607
AC2 =       0.000

VERTICE 26

XT1 =  412927.748
YT1 = 4873195.946
SVC1=       0.000
XTC1=  412927.748
YTC1= 4873195.946
AC1 =       0.000

XV  =  412910.915
YV  = 4873203.585
AV  =    171.0863
AD  =     28.9137
XC  =  412894.689
YC  = 4873123.096
R   =      80.000
SVRC=      36.334
SVL =      36.334

XT2 =  412892.436
YT2 = 4873203.065
SVC2=       0.000
XTC2=  412892.436
YTC2= 4873203.065
AC2 =       0.000

VERTICE 27

XT1 =  412882.468
YT1 = 4873202.784
SVC1=       0.000
XTC1=  412882.468
YTC1= 4873202.784
AC1 =       0.000

XV  =  412869.999
YV  = 4873202.433
AV  =    180.3059
AD  =     19.6941
XC  =  412884.721
YC  = 4873122.815
R   =      80.000
SVRC=      24.748
SVL =      24.748

XT2 =  412858.229
YT2 = 4873198.302
SVC2=       0.000
XTC2=  412858.229
YTC2= 4873198.302
AC2 =       0.000

VERTICE 28

XT1 =  412850.342
YT1 = 4873195.534
SVC1=       0.000
XTC1=  412850.342
YTC1= 4873195.534
AC1 =       0.000

XV  =  412836.517
YV  = 4873190.682
AV  =    176.9367
AD  =     23.0633
XC  =  412823.850
YC  = 4873271.020
R   =      80.000
SVRC=      28.982
SVL =      28.982

XT2 =  412821.870
YT2 = 4873191.045
SVC2=       0.000
XTC2=  412821.870
YTC2= 4873191.045
AC2 =       0.000

VERTICE 29

XT1 =  412759.897
YT1 = 4873192.579
SVC1=       0.000
XTC1=  412759.897
YTC1= 4873192.579
AC1 =       0.000

XV  =  412747.628
YV  = 4873192.883
AV  =    196.5284
AD  =      3.4716
XC  =  412748.756
YC  = 4872742.717
R   =     450.000
SVRC=      24.539
SVL =      24.539

XT2 =  412735.361
YT2 = 4873192.518
SVC2=       0.000
XTC2=  412735.361
YTC2= 4873192.518
AC2 =       0.000

VERTICE 30

XT1 =  412704.768
YT1 = 4873191.607
SVC1=       0.000
XTC1=  412704.768
YTC1= 4873191.607
AC1 =       0.000

XV  =  412693.872
YV  = 4873191.282
AV  =    183.7604
AD  =     16.2396
XC  =  412707.298
YC  = 4873106.644
R   =      85.000
SVRC=      21.683
SVL =      21.683

XT2 =  412683.411
YT2 = 4873188.219
SVC2=       0.000
XTC2=  412683.411
YTC2= 4873188.219
AC2 =       0.000

VERTICE 31

XT1 =  412660.538
YT1 = 4873181.521
SVC1=       0.000
XTC1=  412660.538
YTC1= 4873181.521
AC1 =       0.000

XV  =  412636.469
YV  = 4873174.473
AV  =    161.3194
AD  =     38.6806
XC  =  412638.056
YC  = 4873258.297
R   =      80.000
SVRC=      48.607
SVL =      48.607

XT2 =  412612.683
YT2 = 4873182.427
SVC2=       0.000
XTC2=  412612.683
YTC2= 4873182.427
AC2 =       0.000

VERTICE 32

XT1 =  412608.002
YT1 = 4873183.993
SVC1=       0.000
XTC1=  412608.002
YTC1= 4873183.993
AC1 =       0.000

XV  =  412598.784
YV  = 4873187.076
AV  =    177.7292
AD  =     22.2708
XC  =  412590.558
YC  = 4873131.832
R   =      55.000
SVRC=      19.241
SVL =      19.241

XT2 =  412589.068
YT2 = 4873186.812
SVC2=       0.000
XTC2=  412589.068
YTC2= 4873186.812
AC2 =       0.000

VERTICE 33

XT1 =  412584.882
YT1 = 4873186.699
SVC1=       0.000
XTC1=  412584.882
YTC1= 4873186.699
AC1 =       0.000

XV  =  412564.012
YV  = 4873186.133
AV  =    149.6372
AD  =     50.3628
XC  =  412586.237
YC  = 4873136.717
R   =      50.000
SVRC=      39.555
SVL =      39.555

XT2 =  412549.741
YT2 = 4873170.894
SVC2=       0.000
XTC2=  412549.741
YTC2= 4873170.894
AC2 =       0.000

VERTICE 34

XT1 =  412546.256
YT1 = 4873167.173
SVC1=       0.000
XTC1=  412546.256
YTC1= 4873167.173
AC1 =       0.000

XV  =  412518.137
YV  = 4873137.146
AV  =    123.4765
AD  =     76.5235
XC  =  412502.461
YC  = 4873208.185
R   =      60.000
SVRC=      72.122
SVL =      72.122

XT2 =  412479.993
YT2 = 4873152.551
SVC2=       0.000
XTC2=  412479.993
YTC2= 4873152.551
AC2 =       0.000

VERTICE 35

XT1 =  412470.700
YT1 = 4873156.304
SVC1=       0.000
XTC1=  412470.700
YTC1= 4873156.304
AC1 =       0.000

XV  =  412459.887
YV  = 4873160.671
AV  =    175.5574
AD  =     24.4426
XC  =  412448.232
YC  = 4873100.670
R   =      60.000
SVRC=      23.037
SVL =      23.037

XT2 =  412448.225
YT2 = 4873160.670
SVC2=       0.000
XTC2=  412448.225
YTC2= 4873160.670
AC2 =       0.000

VERTICE 36

XT1 =  412422.342
YT1 = 4873160.667
SVC1=       0.000
XTC1=  412422.342
YTC1= 4873160.667
AC1 =       0.000

XV  =  412410.503
YV  = 4873160.665
AV  =    183.3467
AD  =     16.6533
XC  =  412422.352
YC  = 4873070.667
R   =      90.000
SVRC=      23.543
SVL =      23.543

XT2 =  412399.067
YT2 = 4873157.602
SVC2=       0.000
XTC2=  412399.067
YTC2= 4873157.602
AC2 =       0.000

VERTICE 37

XT1 =  412397.695
YT1 = 4873157.235
SVC1=       0.000
XTC1=  412397.695
YTC1= 4873157.235
AC1 =       0.000

XV  =  412372.234
YV  = 4873150.415
AV  =    159.4753
AD  =     40.5247
XC  =  412418.393
YC  = 4873079.959
R   =      80.000
SVRC=      50.925
SVL =      50.925

XT2 =  412355.813
YT2 = 4873129.796
SVC2=       0.000
XTC2=  412355.813
YTC2= 4873129.796
AC2 =       0.000

VERTICE 38

XT1 =  412350.714
YT1 = 4873123.394
SVC1=       0.000
XTC1=  412350.714
YTC1= 4873123.394
AC1 =       0.000

XV  =  412320.938
YV  = 4873086.004
AV  =    114.3515
AD  =     85.6485
XC  =  412303.780
YC  = 4873160.772
R   =      60.000
SVRC=      80.722
SVL =      80.722

XT2 =  412277.838
YT2 = 4873106.670
SVC2=       0.000
XTC2=  412277.838
YTC2= 4873106.670
AC2 =       0.000

VERTICE 54

XT1 =  412269.883
YT1 = 4873110.484
SVC1=       0.000
XTC1=  412269.883
YTC1= 4873110.484
AC1 =       0.000

XV  =  412258.341
YV  = 4873116.019
AV  =    195.3457
AD  =      4.6543
XC  =  412421.207
YC  = 4873426.081
R   =     350.000
SVRC=      25.588
SVL =      25.588

XT2 =  412247.235
YT2 = 4873122.381
SVC2=       0.000
XTC2=  412247.235
YTC2= 4873122.381
AC2 =       0.000

VERTICE 39

XT1 =  412215.162
YT1 = 4873140.753
SVC1=       0.000
XTC1=  412215.162
YTC1= 4873140.753
AC1 =       0.000

XV  =  412200.663
YV  = 4873149.059
AV  =    165.4178
AD  =     34.5822
XC  =  412185.339
YC  = 4873088.690
R   =      60.000
SVRC=      32.593
SVL =      32.593

XT2 =  412183.958
YT2 = 4873148.675
SVC2=       0.000
XTC2=  412183.958
YTC2= 4873148.675
AC2 =       0.000

VERTICE 40

XT1 =  412179.246
YT1 = 4873148.566
SVC1=       0.000
XTC1=  412179.246
YTC1= 4873148.566
AC1 =       0.000

XV  =  412166.418
YV  = 4873148.271
AV  =    186.4369
AD  =     13.5631
XC  =  412182.006
YC  = 4873028.598
R   =     120.000
SVRC=      25.566
SVL =      25.566

XT2 =  412153.942
YT2 = 4873145.270
SVC2=       0.000
XTC2=  412153.942
YTC2= 4873145.270
AC2 =       0.000

VERTICE 41

XT1 =  412150.424
YT1 = 4873144.424
SVC1=       0.000
XTC1=  412150.424
YTC1= 4873144.424
AC1 =       0.000

XV  =  412138.340
YV  = 4873141.517
AV  =    182.5285
AD  =     17.4715
XC  =  412171.472
YC  = 4873056.920
R   =      90.000
SVRC=      24.700
SVL =      24.700

XT2 =  412127.497
YT2 = 4873135.445
SVC2=       0.000
XTC2=  412127.497
YTC2= 4873135.445
AC2 =       0.000

VERTICE 42

XT1 =  412045.148
YT1 = 4873089.329
SVC1=       0.000
XTC1=  412045.148
YTC1= 4873089.329
AC1 =       0.000

XV  =  412030.277
YV  = 4873081.001
AV  =    187.9793
AD  =     12.0207
XC  =  412133.098
YC  = 4872932.278
R   =     180.000
SVRC=      33.988
SVL =      33.988

XT2 =  412017.233
YT2 = 4873070.029
SVC2=       0.000
XTC2=  412017.233
YTC2= 4873070.029
AC2 =       0.000

VERTICE 43

XT1 =  411957.849
YT1 = 4873020.080
SVC1=       0.000
XTC1=  411957.849
YTC1= 4873020.080
AC1 =       0.000

XV  =  411935.484
YV  = 4873001.269
AV  =    132.6550
AD  =     67.3450
XC  =  411925.664
YC  = 4873058.344
R   =      50.000
SVRC=      52.893
SVL =      52.893

XT2 =  411908.119
YT2 = 4873011.524
SVC2=       0.000
XTC2=  411908.119
YTC2= 4873011.524
AC2 =       0.000

VERTICE 44

XT1 =  411906.225
YT1 = 4873012.233
SVC1=       0.000
XTC1=  411906.225
YTC1= 4873012.233
AC1 =       0.000

XV  =  411873.427
YV  = 4873024.524
AV  =    122.1954
AD  =     77.8046
XC  =  411923.771
YC  = 4873059.054
R   =      50.000
SVRC=      61.108
SVL =      61.108

XT2 =  411873.773
YT2 = 4873059.548
SVC2=       0.000
XTC2=  411873.773
YTC2= 4873059.548
AC2 =       0.000

VERTICE 46

XT1 =  411873.907
YT1 = 4873073.129
SVC1=       0.000
XTC1=  411873.907
YTC1= 4873073.129
AC1 =       0.000

XV  =  411874.121
YV  = 4873094.741
AV  =    148.0517
AD  =     51.9483
XC  =  411823.910
YC  = 4873073.624
R   =      50.000
SVRC=      40.800
SVL =      40.800

XT2 =  411858.525
YT2 = 4873109.704
SVC2=       0.000
XTC2=  411858.525
YTC2= 4873109.704
AC2 =       0.000

VERTICE 46

XT1 =  411847.723
YT1 = 4873120.068
SVC1=       0.000
XTC1=  411847.723
YTC1= 4873120.068
AC1 =       0.000

XV  =  411847.723
YV  = 4873120.068
AV  =    185.0779
AD  =     14.9221
XC  =  411847.723
YC  = 4873120.068
R   =       0.000
SVRC=       0.000
SVL =       0.000

XT2 =  411847.723
YT2 = 4873120.068
SVC2=       0.000
XTC2=  411847.723
YTC2= 4873120.068
AC2 =       0.000

VERTICE 48

XT1 =  411844.149
YT1 = 4873122.164
SVC1=       0.000
XTC1=  411844.149
YTC1= 4873122.164
AC1 =       0.000

XV  =  411828.525
YV  = 4873131.324
AV  =    162.6742
AD  =     37.3258
XC  =  411874.496
YC  = 4873173.923
R   =      60.000
SVRC=      35.179
SVL =      35.179

XT2 =  411820.579
YT2 = 4873147.599
SVC2=       0.000
XTC2=  411820.579
YTC2= 4873147.599
AC2 =       0.000

VERTICE 49

XT1 =  411811.974
YT1 = 4873165.223
SVC1=       0.000
XTC1=  411811.974
YTC1= 4873165.223
AC1 =       0.000

XV  =  411796.866
YV  = 4873196.167
AV  =    123.2108
AD  =     76.7892
XC  =  411767.043
YC  = 4873143.286
R   =      50.000
SVRC=      60.310
SVL =      60.310

XT2 =  411762.569
YT2 = 4873193.086
SVC2=       0.000
XTC2=  411762.569
YTC2= 4873193.086
AC2 =       0.000

VERTICE 50

XT1 =  411758.929
YT1 = 4873192.759
SVC1=       0.000
XTC1=  411758.929
YTC1= 4873192.759
AC1 =       0.000

XV  =  411746.192
YV  = 4873191.614
AV  =    176.9922
AD  =     23.0078
XC  =  411765.193
YC  = 4873123.039
R   =      70.000
SVRC=      25.298
SVL =      25.298

XT2 =  411734.682
YT2 = 4873186.040
SVC2=       0.000
XTC2=  411734.682
YTC2= 4873186.040
AC2 =       0.000

VERTICE 51

XT1 =  411727.857
YT1 = 4873182.735
SVC1=       0.000
XTC1=  411727.857
YTC1= 4873182.735
AC1 =       0.000

XV  =  411712.734
YV  = 4873175.411
AV  =    170.0042
AD  =     29.9958
XC  =  411697.346
YC  = 4873245.736
R   =      70.000
SVRC=      32.982
SVL =      32.982

XT2 =  411695.934
YT2 = 4873175.750
SVC2=       0.000
XTC2=  411695.934
YTC2= 4873175.750
AC2 =       0.000

VERTICE 52

XT1 =  411687.387
YT1 = 4873175.922
SVC1=       0.000
XTC1=  411687.387
YTC1= 4873175.922
AC1 =       0.000

XV  =  411666.238
YV  = 4873176.349
AV  =    167.0855
AD  =     32.9145
XC  =  411689.001
YC  = 4873255.906
R   =      80.000
SVRC=      41.362
SVL =      41.362

XT2 =  411648.063
YT2 = 4873187.174
SVC2=       0.000
XTC2=  411648.063
YTC2= 4873187.174
AC2 =       0.000

VERTICE 52

XV  =  411632.640
YV  = 4873196.360

ZONA OGGETTO D'INTERVENTO
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